
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

Front Mount Bracket 713010-130311

Front Mount side brace LH10-1713L12

Front Mount side brace RH10-1713R13

1

1

2

2

A A

B B

2

3

1

Front Mount Conv.

W/O Weight Bracket

John Deere 

7220,7320,7420,7520

7130,7230,7330

7130 Premium,7230 Premium,

7330 Premium,7430 Premium,

7530 Premium

Bolt List

QTY Description

Placment

4 20mm x 110mm x 10.9 Bolts Side Brace to Tractor

4 20mm x 60mm x 10.9 Bolts Side Brace to Tractor

2 16mm x 45mm x 10.9 Bolts Side Brace to Tractor

8 20mm Hardened Flatwashers Side Brace to Tractor

10

3/4 x 2 1/2  Bolts

Saddle to Front Bracket

2

3/4 x 2 Bolts

2 Bottom Holes Side Brace to 

Front Bracket

12

3/4 Lockwashers

12

3/4 Nuts

4

Side Brace Spacer

Side Brace to Side of Tractor

Price List
$1308.00

Limitations may apply.  Please consult 
API Sales at 800-288-1117.

CONV ID:  JD-7000PWO-0311-FM-CONV




